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CHEM347-1 Bracher Organic Chemistry Il
12. The instructor met his/her office hours. (Answer only if you sought help.)
1. Policies concerning assignments, tests, and grading were made clear at the ou 5= Strongly Agree, 4= Agree, 3= Neutral, 2= Disagree, 1= Strongly Disagree
tset of the course. response frequencies: Strongly Agree(12), Agree(0), Neutral(0),
5= Strongly Agree, 4= Agree, 3= Neutral, 2= Disagree, 1= Strongly Disagree Disagree(0), Strongly Disagree(0)
response frequencies: Strongly Agree(8), Agree(5), Neutral(0), mean= 5.00, sdev= 4.18, responses= 12
Disagree(0), Strongly Disagree(0)
mean= 4.62, sdev= 3.40, responses= 13 13. My overall evaluation of this instructor is:
5= Excellent, 4= Very Good, 3= Good, 2= Fair, 1= Poor
2. Test questions were related to assignments, lectures, or discussions. response frequencies: Excellent(11), Very Good(1), Good(1),
5= Strongly Agree, 4= Agree, 3= Neutral, 2= Disagree, 1= Strongly Disagree Fair(0), Poor(0)
response frequencies: Strongly Agree(5), Agree(7), Neutral(0), mean=4.77, sdev= 3.73, responses= 13
Disagree(1), Strongly Disagree(0)
mean= 4.23, sdev= 2.69, responses= 13
Additional Comments
3. The lecture and the text were coordinated. —="I think the class is too advanced for a first year organic class. | understa
5= Strongly Agree, 4= Agree, 3= Neutral, 2= Disagree, 1= Strongly Disagree nd that it is for the majors, but | don’t see why the grades are vastly differen
response frequencies: Strongly Agree(8), Agree(5), Neutral(0), t between the two classes of majors and nonmajors. | think it is taught at more
Disagree(0), Strongly Disagree(0) of a graduate level and | don’t understand why it has to be. It is too involve
mean= 4.62, sdev= 3.40, responses= 13 d for a first year class and as majors, some of the material should be a little
more involved and little more difficult, but not graduate school material. Also
4. Visual aids (demonstrations, overheads, etc.), if used, were helpful. because the quizzes are so much like the test they need to given out more in ad
5= Strongly Agree, 4= Agree, 3= Neutral, 2= Disagree, 1= Strongly Disagree vance and graded faster."
response frequencies: Strongly Agree(6), Agree(6), Neutral(0), —-Dr. Bracher is AWESOME. | am so grateful | had him as a professor and that he
Disagree(1), Strongly Disagree(0) chose to come to Saint Louis. Thank you for challenging me this semester.
mean= 4.31, sdev= 2.85, responses= 13 —-This is the best teacher | can ever find so far!
—="Fantastic job! | never thought | would enjoy orgo, but I really did."
5. The course was well organized. —-Dr. Bracher did a great job teaching this course. His enthusiasm and knowledge
5= Strongly Agree, 4= Agree, 3= Neutral, 2= Disagree, 1= Strongly Disagree were key in helping me understand and apply the course material.
response frequencies: Strongly Agree(7), Agree(5), Neutral(0),
Disagree(1), Strongly Disagree(0)
mean= 4.38, sdev= 3.01, responses= 13
6. Students were encouraged to ask questions.
5= Strongly Agree, 4= Agree, 3= Neutral, 2= Disagree, 1= Strongly Disagree
response frequencies: Strongly Agree(11), Agree(2), Neutral(0),
Disagree(0), Strongly Disagree(0)
mean= 4.85, sdev= 3.86, responses= 13
7. The lecture contributed to my understanding of the subject material.
5= Strongly Agree, 4= Agree, 3= Neutral, 2= Disagree, 1= Strongly Disagree
response frequencies: Strongly Agree(9), Agree(2), Neutral(1),
Disagree(1), Strongly Disagree(0)
mean= 4.46, sdev= 3.19, responses= 13
8. The instructor showed interest and enthusiasm in teaching this course.
5= Strongly Agree, 4= Agree, 3= Neutral, 2= Disagree, 1= Strongly Disagree
response frequencies: Strongly Agree(13), Agree(0), Neutral(0),
Disagree(0), Strongly Disagree(0)
mean= 5.00, sdev= 4.16, responses= 13
9. The instructor was courteous and considerate.
5= Strongly Agree, 4= Agree, 3= Neutral, 2= Disagree, 1= Strongly Disagree
response frequencies: Strongly Agree(12), Agree(1), Neutral(0),
Disagree(0), Strongly Disagree(0)
mean=4.92, sdev= 4.01, responses= 13
10. The instructor was accessible to students for individual help. (Answer only
if you sought help.)
5= Strongly Agree, 4= Agree, 3= Neutral, 2= Disagree, 1= Strongly Disagree
response frequencies: Strongly Agree(11), Agree(1), Neutral(0),
Disagree(0), Strongly Disagree(0)
mean= 4.92, sdev= 4.01, responses= 12
11. The instructor was prepared for his/her class.
5= Strongly Agree, 4= Agree, 3= Neutral, 2= Disagree, 1= Strongly Disagree
response frequencies: Strongly Agree(12), Agree(1), Neutral(0),
Disagree(0), Strongly Disagree(0)
mean= 4.92, sdev=4.01, responses= 13
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